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Q.1 Choose the correct option for the following 10

(i) In R-S nomenclature, if four groups attached to chiral carbon are -CHO, -CN, -CH(CH:)»
and -CH=CHj then highest priority is given to -
(@) -CH=CH; (b) -CH(CHy), {c) -CN (d) -CHO.
(i) Which of the following statement is false about enantiomer ?
(a) have same physical properties {b) rotate plane-polarized light
(c) are non-superimposable mirror images (d) are superimposable mirror images.
(i) 1 cmis equal to:
{a) 0.1dm {b) 10dm (¢} 0.01dm (d) 100 dm
(iv) Which of the following is use as a de-icing fluid for aero plane wings ?
(a) Giycerol (b) Ethylene glycol (c) Ethanol (d) Ethylene oxide.
(v} The oxidation of which of the following alcohols is difficult?
(@) Ethanol (b) 2-methyl-2-propanol  (c) 2-butanol (d) 2-methyl-1-propanol.
(vi) The correct b. p. order of various alcohols like - (i) t-butyl alcohol (i) ethyl alcohol and
(i) Water is :
(@) (i) > (i) > () (b) () > (i) > (i) (¢) (i) > (iii) > (i) (d) (i) > (i) > (i)
(vii) Which of the following compound is chemoselective reagent ?
(@)  9-BBN (b) P/Cl, (c) HuNi (d) Felconc.HCI.
(vii) Acetoacetic ester is the ester of a -
(a) a-Keto acid (b) B-Keto ester (c) a-Hydroxy ketone  (d) a-Hydroxy acid.
(ix) Dryiceis : o
(a) Solid water (b) Solid NaC! solution (c) Solid CO, (d) Mixture of gaseous CO, and
ether solution. :
(x)  The nucleophilic attack on a acyl compound involves :
(a) Pentavalent intermediate (b) Tetrahedral intermediate
(¢} Carbocation intermediate (d) Carbanion intermediate.
Q. 2 (a) State the following statement is true or faise 4
(1) Lactic acid has three stereoisomers.
(2)  FeSO4H,0; is known as Fenton's reagent.

(3)  Sodium hypobromide reagent is suitable for conversion of amide compound to1" amine.
(4)  Phenacetin compound is possessed analgesic and antipyretic properties.

(b) Fill in the blank 4
(1) e, have same physical properties (enantiomer/Diastereomer).

{(2) .......compound is used as an excellent humectants(Glycerol /Ethylene glycol).

(3) Carbon atom of carbonyl group is............ (sp? hybridized/sp® hybridized).

(4) Salicyla[de_hyde can be synthesis by....(Kolbe reaction/ Reimer-Tiemann reaction). [P.T.0]
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ANSWER THE FOLLOWING (ATTEMPT ANY TEN)
In conformational analysis of cycfohexane,tertﬁbutyl group is considered as holding group

Cyclobutane is not planar.

The boat form is not g conformer, but a transient existence between two conformations.
Alcohols are amphoteric in nature.

Give synthesis and yses of 1,2-ethane dio|

Give synthesis of 1°, 2° and 3° aléohols using Grignard reagent (RMgX) and various
carbonyl compound.

Phosporus ylides are used in Wittig reaction.

How can you distinguish 1°, 2° and 3° amines.

Give the synthesis of p-bromoaniline from nitrobenzene.

Acetic acid is weaker acid than chloroacetic acid.

o-Nitrophenol is steam volatije but p-nitrophenol does not.

Give synthesis of trimethyl acetic acid from tert-butyl alcohol.

ANSWER THE FOLLOWING ( AVY /=0 UR)

Arrange the stability order of the tollowing conformations of cyclohexane and explain
your answer. (a) Half chair (b) Chair (¢) Twist-boat

Draw all conformations of 1,2-dimethylcyclohexane and comment on their stability and
indicate the pair of conformation which are resolvable and non-resolvable.

Complete the following reaction and give appropriate detail stepwise mechanism.

?H3 (|3H3 +
CHy— C——C—ch, _H
H  OH

20

Draw at least EJGHT isomeric structures of alcohols having molecular formula CsH120 and give

their cormmmon name.
Complete the following reaction and give appropriate detail stepwise mechanism.

0 =
R-—C\" ﬁ_o?’i,, 2 o+ 7
NH,
What is acetal ? Complete the following reaction and give appropriate detail stepwise
mechanism. :

r
Two moles of ethano| + Ethanal " -————
Arrange the decreasing acidity order of following molecules and give detail explanation
for your answer. {a)  Alcohol (b}  Water (c) Phenot
(a) Give the structure formuia of compound Ao F

(i} Catechol + CHCl; ¥ NaOH— — A (C7 Hg Os)

(i) A +CHyly+ NaOH——» B (CgHg Oy)

(iii) B + CHyCHOF  NaOH— — 5 C (CT(?_HS th o CHa N =

(iv)  C + Ac,0+ Sodium acetate— ——» k 12941004 Lo e
(V) D+ PCly——= E (CyyHy05Cl)

(viy E + Piperidine—-f—'----ﬂ»jl: (Piperine).
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Q. 1 oflAetied w @scu uie s waot g2l Gl 10
(1) R-S Qo2lidt Hi2 2R AR YEL WEL WHg -CHO, -CN, ~CH(GH,), wA —~CH=CH, (B2l stolel WA ASIAAL 8
@l 52l AHE YLH Bl BH Yt Ul 2
{a) -CH=CH, (b) -CH(CH,), (¢} -CN ({d} -CHO.
2)  olldetngell sy sust YREE (enantiomer) ML ullg 87
(a) el{ds ool uui 8l ) yellaget ysiee] uRaHeL 52
(c) ([Glot wattauRAN YREel2A(nonsuperimposable) B (d) 2130 yREN B,
(3) 1 cm GRUR :
(a) 0.1 dm (b} 10 dm (¢} 0.0l dm (d) 100 dm
(4)  ollReu Higll Blall Gualal A Aetell ulwll GUR WL dl 61RE A §@ HRAl HEe AR B?
() Bwda () S@clst aasla (o) vda  (d) SR RRUBS.
(5)  ofiRotiniall sl wcABlcte] BB a0l 539 Heder B? )
() Sudct (p) 2-faga-2uldede  (¢) z-od2elet (d) 2- e 1-Yidala.
(6) el el dellaell Felt b (i) t-oyalfe wEESd (i) BUTH A AA w1 (i) Wl ot Gestrot (olg ol il
s 50 & ?
(a) i) > Gi) > () () (i) > (i) > Gi) (c) iy > () > () (d) Gii) > () > (ii}.
@) A Retizll 53 dellyet 3 RAbea & ?
(@) 9-B BN (b) P/Cl, {c) H,/Ni (d) Fe/Conc. HCI
@ ARABNAAs Srez A e slolt & 7
@ oS3l ARs () A (o) a-sleRel At (d) a-steglall RS,
(9) Y GRS A B
(@) tot wall (b} Het NaCl of &8l (c) Hlot CO, d) YU CO, el FUR el s of (AsiaL
(10) FUBA (acyl) Ul GUR WU Bos weg2(l yslal (nucleophilic attack) A2l @ 53 Rt WU
(intermediate) Olal & ? '
(a) Wo2tdctoe  (b) 2¢1ACi02 (o) slelldelatet (d) slolaloti2tat,
Q2 () ol Actiniol sail cusell Al B ¥ vilet & A gguel. 4
(1) Ales ARls o ot wastellel ysia Gauela unes au 8.
(2)  FeSO0,/H,0, ketlett Ubas dld vlonia 8,
(@) Auss il of 1° Bteel Hellwoll Hi Fuict? seal Hie ARam ssdleluss ylsas Al 9.
@ fetrllélet 2zllyst Uslaws vlal dlaalis ol sjertdl w2d 8.
(o) ol 2Nl witelt o Yy s2l. - 4
) N ot allls ojetnl aut Az B (UAGERA / starRélR2ALR).
............... Gell Qarodl deleret Ly auzie & EAAd /SRl scrasia).
(3)  stollalse (C=0) dallwel 1l REE slofol ... age urd 8. (SP? / SPY).
(4)

AAUB eSS o HIGHLL........ al el §. (e bl / AsHR-atsHet ylba). [P.T.0]




Q.3 Aaswer the following (ANY TEN) - 20
(1) MESASESIDototl HIUGL Y2528 (conformational analysis) K ex-oatset Mg alledol aye d¥ld aula ®,
(2) aseleyea anadlal {planar) otell,
(3)  olle d3uel uHues Sletfilz o2l uaL A dzuel wHues w2 of A5 Wl WA B
(4)  wceBald WRs Auy Ay 3y sl 5d .
(5) 1,288t stallet of ARG (Goticiz) val GUaAlDL U,
(6)  Allorstiduldas (rMgx) il alioey sisilsteSe wielorell <l Guailol 530 19,27 ol 3PueE8l e dedue ),
(7} SREU AUTSHU (ylide) «ll GU0t QoL yBenni wzl & |
(8) s Q10 20 wal 3P W A . - Ae udl wlowsl
(9)  -oUSQALRA Higll p-ehilalellellor of AAuol (cletiae) Bl
(10) A:Atéls VRS & A a-5clANAEs AR 2l yols B,
(1) o-sutSlglotict oitme ofl cuvuslict & weld p-ot SR Slollet otoll.
(12) ez-ojeiet vieslalet Wisll astlaga Aalids S@s ol olotiaz wdl
Q4 oflett yslbieell ABuLL 2R Ualott Rt weliot 2l ' 32
A ollAell s sTotott HFURL AHULEIA Atotl relellccoll U 51U N6 i A 2l [Qigd #a
Hdl Auell HARGH ealad wAw O3,
(@) & AR (half chair) (b) Az (chain) (¢) 2cllte clle (Twist bost)
(2)  1,2-51 Raude WESABSIototl oLl AUl Axued £13] U Dol 2ellect (AR Ausll (comment) 541
ot ealal 3 Auiotl sau dzuel aHuesl RAduw {resolvable) vlel ollol RAAGIA {non-resolvable) .
(3} ollAell yBau ygl 53 wa Ao Feu@E wl@zaizell dotssicn? vyl

CH; CH3 +
CHy . & oCocHy, H
3 » L
OH b

(4) CsHip O RQYA HRladl WEBlEld W2 26 aHuaBar 6itiRel el viol dell 2HLodl ollx u..
(5)  ollAll uldan Yol 521 s 2o (Bau@® wlazetzell detssicur v,

Re-NH, —25s 5
0]
(6) ARect Aed 7 ollAell uBar yul 53 1A 2dloa Bou@E u@zcizell dotssicz sl
Dry HCH
Twomoles ROH + R'CHO . 4

(7) ollAet welowell W2 sect 52000 Aot ARARRA 51 lodl AN A SNHAA 1 [@Qagd A wiemal.
(@) wuesldldt (o) well (@) (ee
(8)  ollAell ulbeu ygl 58 A A 2l F ytll ot 22owe of cituzulley 2t Ul

(a) Give the structure formula of compound A to F

(i) Catechol + CHCl; ¥ NaQH—— > A {C7Hg O3)
(ii) A+ CHy L+ NaOii = B (CgHgO3)

(iii) B + CH3CHO" NaOH—— » C (Cy9Hg Oy)
(iv) C + Ac,O+ Sodium acetate———» D (Cqy H{pO4)

(V) D + PCES——--~7~-—)A>- E (012 Hg O5 Cf)
(vi} E + Piperidine————— {(Piperine).
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